PARTS

J‘

St
et &

S. Steel Brake Line To
Master Cylinder

S. Steel Brake Line
To Front Brake Line

1/8 NPT plug (2)

Ve

VV

S. Steel Adapter (2)

Solenoid Valve

17

o9

1/4-20 Nut (2)

rY
C.Q

1/4" Lock Washer (2)

1/4 Flat washer (2)

S. Steel Bracket

1/4-20 Nut (2)

\

Female Termminal (4)

Lit Momentary Switch

»

_ |

Scotchlok™ Rocker Switch 18 ga. Wire Male Terminals (2)
Connector
-< SR _ -
=
Butt Connectors (3) 4A Fuse 5/16" Connectors (3) Convoluted Cover




